(BRGNS RTIEDT)

FHKEKREIRE
#W# . Cantjie
PELR :
F5
BRAR TR

cantjie@cantjie.com

Github:www.github.com/cantjie



B .
AHE—:
(GRJR: http://ica.openjudge.cn/dgl/2) (BBEHIR, LTHE=FRIER)
Fiiiva
WRZHRANE— P EEFFENEARFTAI, HIIZBEHIFATL 2 + 3 9K
ZFRTELF 2 3. WRZFRA NI AEEEFTZ L HELIERFKER, tBA%
FIEEHTEELXST, B2 + 3) « 4 B R =T F g + 234, KKK
ZFRAHIE, RAEEFERT+ -+ /1
HA
A\ G—17, BAsEHFAIEERZEEHTEMNE, sEEHEZRH,
i
Bt 9—77, FALHIE,
o] BFEH printf("%A\n", v)FiH ZeX TCAI1E v
FEBIFA
*+ 11.012.0 +24.0 35.0

P50
1357.000000

R B

MARESE AN, SBEEFN, BFETRBARET, SB2NNE
BENS, N#HTEE.

1. #include<stdio.h>

2. #include<stdlib.h>

3. double RPolishExpVal() {

4 char str[50];

5. scanf("%s", str);

6 switch (str[0])

7 {

8 case '*': {return(RPolishExpVval() * RPolishExpVal()); break; }
9 case '+': {return(RPolishExpVal() + RPolishExpVal()); break; }
1e. case '-': {return(RPolishExpVal() - RPolishExpVal()); break; }
Al case '/': {return(RPolishExpVal() / RPolishExpVal()); break; }
12. default:return atof(str);

13. }

14. }

15

16. int main()

17. {

18. /350 22 ik ARl Reverse Polish expression

19 printf("%f\n", RPolishExpVal());

20. return 0;



21. }
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#include<stdio.h>

#include<stdlib.h>

#include<queue>

#define INT_MAX 2147483647

#define MAX_MAZE_SIZE 100
//http://ica.openjudge.cn/dg3/solution/11562783/

using namespace std;
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class Node {
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. public:
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int x;
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int y;
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////bool Node: :operator!=(const Node & another_node) const;
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class Maze {

private:

int maze[MAX_MAZE_SIZE][MAX_MAZE_SIZE];

Node start;

Node end;

int col_size;

int row_size;
public:

Maze();

int ShortestWay();

b

int main() {

int step;

Maze *MyMaze = new Maze();

step = MyMaze->ShortestWay();

printf("%d", step);

Maze::Maze() {
int m, n;
int i = 0;
int j = 0;
char temp;
scanf("%d %d", &n, &m);
row_size = n;

col_size = m;

for (1 =0; i < n; i++) {

for (3 =0; j < m; j++) {
scanf("%c", &temp);

maze[i][j] = temp;

switch (temp)

{

case '#':
maze[i][]]
break;

case

maze[1i][3j]

break;

case '\n':

INT_MAX;



59. j--;

60. break;

61. case 'S':

62. maze[i][]j] = ©;

63. start.x = 1i;

64. start.y = j;

65. break;

66. case 'T':

67. maze[i][j] = INT_MAX;

68. end.x = i;

69. end.y = j;

70. break;

71. default:

72. break;

73.

74. }

75. }

76. }

77.}

78.

79. int Maze::ShortestiWay() {

80. int i =0, j = 0;

81. int count = 0;

82. Node curr;

83. Node next;

84. queue <Node>MyQueue;

85. curr = start;

86. while (curr.x != end.x || curr.y != end.y) {
87. count = maze[curr.x][curr.y] + 1;

88. if (curr.x + 1 < row_size && maze[curr.x + 1][curr.y] > count) {
89. maze[curr.x + 1][curr.y] = count;
90. next.x = curr.x + 1;

91. next.y = curr.y;

92. MyQueue.push(next);

93. }

94. if (curr.x - 1 >= @ & maze[curr.x - 1][curr.y] > count) {
95. maze[curr.x - 1][curr.y] = count;
96. next.x = curr.x - 1;

97. next.y = curr.y;

98. MyQueue.push(next);

99. }

100. if (curr.y + 1 < col_size &% maze[curr.x][curr.y + 1] > count) {
101. maze[curr.x][curr.y + 1] = count;

102. next.x = curr.x;



103. next.y = curr.y + 1;

104. MyQueue.push(next);

105. }

106. if (curr.y - 1 >= @ & maze[curr.x][curr.y - 1] > count) {
107. maze[curr.x][curr.y - 1] = count;
108. next.x = curr.x;

109. next.y = curr.y - 1;

110. MyQueue.push(next);

111. }

112. curr = MyQueue.front();

113. MyQueue.pop();

114. }

115. return maze[end.x][end.y];

116. }

117.

118. //bool Node::operator!=(const Node & another_node) const

119. //{
120. // if (another_node.x == x && another_node.y == y) {
121. // return false;
122. // }
123. // else {
124. // return true;
125. // }
126. //}
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1. double cal(char opt, double numl, double num2) {
2 switch (opt)

3 {

4 case '+':

5. return numl + num2;
6 break;

7 case '-':

8 return numl - num2;
9 break;

10. case '*':

11. return numl*num2;
12. break;

13. case '/':

14. return numl / num2;
15. break;

16. default:

17. return 0;

18. break;

19. }

20. }

21.

22. int getPriority(char opt) {

23. {

24. int priority;

25. if (opt == ")")
26. priority = 3;

27. else if (opt == "*' || opt == '/")



28.
29.
30.
31.
S
33.
34.
35.
36.
. float NormExpVal() {
char exp[300];
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priority = 2;

else if (opt == '+' || opt == '-")
priority = 1;

else if (opt == '(")
priority = 0;

return priority;

bool num_tag = ©;

int curr = 0;

int priority = 0;
double result;

double temp;

double numl, num2;

char opt;

stack <double>NumStack;
stack <char>OptStack;

scanf("%s", exp);

while (exp[curr] != "\@') {
if ((exp[curr] >= 48 && exp[curr] <= 57) || exp[curr] == '.

if (num_tag == 0) {
temp = atof(exp + curr);
num_tag = 1;

NumStack.push(temp);

}
else {
if (getPriority(exp[curr]) == 3) {
opt = OptStack.top();
OptStack.pop();
while (getPriority(opt) != 0) {
num2 = NumStack.top();
NumStack.pop();
numl = NumStack.top();
NumStack.pop();
temp = cal(opt, numl, num2);

NumStack.push(temp);

opt = OptStack.top();
OptStack.pop();

A



72. }

73. }

74. else {

75. //getPriority(exp[curr]) ==

76. if (!optStack.empty()) {

77. if (getPriority(exp[curr]) > getPriority(OptStack.top())
|| exp[curr] == "(") {

78. OptStack.push(exp[curr]);

79.

80. }

81. else {

82. opt = OptStack.top();

83. OptStack.pop();

84. num2 = NumStack.top();

85. NumStack.pop();

86. numl = NumStack.top();

87. NumStack.pop();

88. temp = cal(opt, numl, num2);

89. NumStack.push(temp);

90. if (getPriority(exp[curr]) <= getPriority(OptStack.t

op())) {

91. opt = OptStack.top();

92. OptStack.pop();

93. num2 = NumStack.top();

94, NumStack.pop();

95, numl = NumStack.top();

96. NumStack.pop();

97. temp = cal(opt, numl, num2);

98. NumStack.push(temp);

99, }

100. OptStack.push(exp[curr]);

101. }

102. }

103. else {

104. OptStack.push(exp[curr]);

105. }

106. }

107. num_tag = 0;

108. }

109. curr++;

110. }

111. while (!OptStack.empty()) {

112. opt = OptStack.top();

113. OptStack.pop();



114. num2 = NumStack.top();

115. NumStack.pop();

116. numl = NumStack.top();

117. NumStack.pop();

118. temp = cal(opt, numl, num2);
119. NumStack.push(temp);

120. }

121. return NumStack.top();

122. }
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